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AAN (10 )

As shown the figure,

Water is flowing through a large circular conduit with a velocity profile given by the
equation

_ (Y
v, {(r)y=9 |1 [4}

Please determine the average velocity in the smaller circular
conduit in ft/min.

WAL (20 &)

As shown the figure, a cylindrical rod with radius «R 1is being moved in a tube with
radius Rat a velocity of V. The rod and the tube are coaxial. The pressure at two
ends of this rod is constant. Find the steady state velocity distribution of the
Newtonian fluid.
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